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Question 1
Question Type: MultipleChoice

Aggregation Pipelines have a limit of:

Options: 
A- 2 MB document and 100 MB RAM

B- 16 MB document and 100 MB RAM

C- No limit on document and 100 MB RAM

D- 2 MB document and no limit on RAM

Answer: 
B

Question 2
Question Type: MultipleChoice



What is the replication factor for a replicated cluster with 1 primary, 3 secondaries with one of them hidden. The set also has an arbiter?

Options: 
A- None of the above

B- 5

C- 3

D- 4

Answer: 
D

Question 3
Question Type: MultipleChoice

'$set' sets the value of



Options: 
A- Code block

B- Name/value pair

C- Key

D- None of the above

Answer: 
C

Question 4
Question Type: MultipleChoice

Which of the following is incorrect statement about find and findOne operations in MongoDB?

Options: 
A- findQ returns all the documents in a collection while findOne() retrieves only the first one.



B- find.limit(l) is not the same query as findOne()

C- findOneQ returns the actual first document retrieved from a collection

D- findQ and findOneQ returns cursors to the collection documents

Answer: 
D

Question 5
Question Type: MultipleChoice

In a collection that contains 100 post documents, what does the following command do? db. posts. find().skip(5).limit(5)

Options: 
A- Skip and limit nullify each other. Hence returning the first five documents

B- Limits the first five documents and then return them in reverse order

C- Skips the first five documents and returns the sixth document five times

D- Skips the first five documents and returns the next five



Answer: 
D

Question 6
Question Type: MultipleChoice

What is the on-premise solution having functionality equivalent to cloud manager?

Options: 
A- Service Manager

B- Replica Manager

C- Ops Manager

D- Journaling

Answer: 
C



Question 7
Question Type: MultipleChoice

Which of the tags in a replica set configuration specify the operations to be read from the node with the least network latency?

Options: 
A- netLatency

B- secondaryPreferred

C- nearest

D- primaryPreferred

Answer: 
C

Question 8
Question Type: MultipleChoice



Which format/standard is used by MongoDB internally to store documents?

Options: 
A- JSON

B- BSON

C- B+ Trees

D- JSON - Extended

Answer: 
A
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